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C-3.20-02
Pattern Selection .
assign
Pass 1 bottom-up: /
Annotate the nodes with
sets of pairs cont
{ (value descriptor, costs)}

addradd
/ \t
/addradd
addr cont

addr
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C-3.20-03
Pattern Selection .
assign
Pass 1 bottom-up: /
Annotate the nodes with
sets of pairs cont
{ (value descriptor, costs)}

addradd
\const
///////gddradd
addr
(Rix<,0) cont

addr
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C-3.20-04

Pattern Selection .
assign

Pass 1 bottom-up: /
Annotate the nodes with
sets of pairs cont
{ (value descriptor, costs)}

addradd
\
addradd const
/
(R0} cont
addr

{(Ri+c,0)}
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C-3.20-05
Pattern Selection .
assign
Pass 1 bottom-up: /
Annotate the nodes with
sets of pairs cont
{ (value descriptor, costs)}

addradd

AN

const
addradd

e

addr cont

{(Ri1+0,0)} {((Ri+c),0), (Ri,1)}
4 6

addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-06

assign

— N\

cont

addradd

AN

const
{(Rﬁc’z)} addradd

addr cont

{(Ri1+c,0)} {((Ri+c),0), (Ri,1)}
4 6

addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-07

assign

— N\

cont

addradd

const
i ddradd Ri
(Ri+c,2)} accra (0), (RL1))

addr cont

{(Ri1+0,0)} {((Ri+c),0), (Ri,1)}
4 6

addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-08

assign

— N\

cont
{(Ri+c,2), (Ri+c,4)) 2ddradd
9 11
const
- ddradd -
{(R1|JqC,2)}"=l ra {(%0), (RC|3’1)}
addr cont
(Rikc,0)) (Ri+c),0), (Ri,1)}
4 6
addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-09

assign

N

cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

const

{(R‘%_;Cz)} addradd {(%,O), (RCii’1)}

addr cont
{(RI1+C,0)} {((Ri+c),0), (Ri,1)}
4 6
addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-10

assign

X

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

const

{(R‘%_;Cz)} addradd {(%,O), (RCi%’1)}

addr cont
{(RI1+C,0)} {((Ri+c),0), (Ri,1)}
4 6
addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

C-3.20-11

{(void,lc+3)} assign

/\

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

const

{(R‘%_;Cz)} addradd {(%,O), (RCi%’1)}

addr cont
{(RI1+C,0)} {((Ri+c),0), (Ri,1)}
4 6
addr
{(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-12

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-13

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-14

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-15

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-16

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-17

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-18

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-19

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-20

const

{(Rﬁc’z)} addradd

addr
{(Ri+c,0)} cont
1 4
addr

{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

Pass 3 bottom-up:

Emit code.

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

C-3.20-21

const

{(Rﬁc’z)} addradd

addr
(Rixc,0) cont

4

addr
{(Ri+c,0)}

{(%0), (R:i3,1)}

{((Ri+c),0), (Ri,1)}

6
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

Pass 3 bottom-up:

Emit code.

C-3.20-22

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+c.4)) 2ddradd
9 :
const
- ddradd -
{(RHC,Q)} addra {(%0), (RCI*}’”}
addr cont
(Rikc,0)) ((Ri+c).0), (Ri. 1)}
6

addr
load (R6,8), R1 {(Ri+c,0)}
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

Pass 3 bottom-up:

Emit code.

C-3.20-23

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+e; )}addradd

9 1

const

{(R‘%_[_IC’Q)} addradd {(%,O), (RCi%’1)}

addr cont
(Ric,0) ((Ri+<),0), (Ri,1))
4 6
addr
v Oy A (Rix.0)
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

Pass 3 bottom-up:

Emit code.

C-3.20-24

{(void,lc+3)}

R|+c Rl ,3)} cont

{(Ri+c,2), (Ri+c.4)) 2ddradd
9 :
- addradd gonst
{(R1|-:C,2)} {(% ), ( é )}
addr cont
{(Rirc0) (((Ri+0),0), (Ri, 1)
4 6
addr
fﬁg /g66ﬁ81) R’y {(R%+c,0)}

store (R2,18)....
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Pattern Selection
Pass 1 bottom-up:

Annotate the nodes with
sets of pairs
{ (value descriptor, costs)}

Pass 2 top-down:

Select for each node the
cheapest pattern,

that fits to the selection
made above.

Pass 3 bottom-up:

Emit code.

{(void,lc+3)} assign

/\

R|+c Rl 3

{(Ri+c,2), (Ri+c4)}
9 1

{(Rﬁc’z)} addradd

addr
{(Ri1+c,0)}

Ioadl_(? 6,8), R1
add R6,R1,R2

store (R2, 18)
total cost: 3 instructions

}cont

addradd

C-3.20-25

const

{(%0), (R:i3,1)}

cont

{((Ri+c),0), (Ri,1)}

4

addr
{(Ri+c,0)}

6
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